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ELEMENTARY EDUCATION COMPLETION CERTIFICATE EXAM 2025

CLASS -8
Subject- English
Sample Paper

Duration 2:30 hours Max.Marks — 80

PART- |
Objective Type Question

Choose the correct option from the given options-
Q-1. Inside the box, there was ......c.ccccevevrvvvnnvrerneenennn. €NVElope.

(a) a (b) the (c) an (d) none

Q-2. Which of the following is not related to the word 'Kingdom'?

(a) Prince (b) King (c) Minister (d) Crop

Q-3. Which of the following underlined letters has a different sound?

(a) War (b) Car (c) Far (d) Bar

Q-4. 1 was.......cccceeereiennneen.....0n the stone paved road.

(a) had walked  (b) walking (c) have been walking (d) walks

Q-5. The people ...................... live next door are good neighbours
(a) who (b) what (c) where (d) when
Q-6 Rahul jumped.......................... the swimming pool.
(a) in (b) upon (c) into (d) on
Q-7 YOU...ccevvvvvrreeeeeennennnnNOt speak loudly in the hospital.
(a) would (b) must (¢) could (d) none of the above
1
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PART- I
Very Short Answer Type Question

Q-: 8-11 - Complete the passage given below using the correct words from the bracket —(4x2=8)
[ known , bravely, freedom-fighter, married, Jhansi ]

Rani Lakshmi baiwasagreat ......coceeeeeeeiecveveceeee e Of Indlias Sheis...

S .. as Jhansi ki Rani. She was .....cccccccceveieiveieeenieeeveveeeen... to Raja Gangadhar
Rao. Lakshmi Bai fought very ......ccovvvcieeceeeiveeevevveeneennnenn... With British to save Jhansi.

Q-12 Write the opposite gender of the following words - 1+1=2

Ans (a) Gentleman -

(b) Horse -

Q-13 Write the missing letters in the following words- 1+1=2

Ans (a) L_op_rd

(b)C nma =

Q-14 We Should wear a helmet while driving vehicles ..........ccccvevvveeeveeee.We may avoid an

accident. (so that / while) 2
Q-15 Fill in the blanks with the help of words given in the bracket. 1+1=2

(left, right, drink , stop)

(a) One should walk on the.................................side of the road.

(b) One should not ......................while driving.
Q-16 Arrange the following words in a proper order to make meaningful sentences 1+1=2

{a) was/The old lady/sitting/in a wheelchair

(b) an honest/boy/Mohan/is

18



PART- Il
Short Answer Type Question

(A) (Q. 17-18 ) Read the passage carefully and answer the guestions given below-

All these thoughts led me to question myself as to why people climb mountains. It is not
easy to answer the question. The simplest answer would be, as others have said."Because it
if there." It presents great difficulties. Man takes delight in overcoming obstacles. The
obstacles in climbing a mountain are physical. A climb to a summit means endurance,
persistence, and will power. | have been attracted by mountains. | had been miserable, lost,
when away from mountains, in the plains. | believe that mountains are a means of
communication with God.

0-17 (a) What does a man takes delight in? (2)
Ans:
(b ) What does the narrator ask himself? (2)
Ans:
(c) Which kind of belief does the narrator have? (1)
Ans:
Q-18 (a) What according to the narrator "A climb to a summit" means? (2)
Ans:
(b) What attracted the narrator? (1)
Ans:
3
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(c) Identify and write the opposite of the words given below from the passage- (1+1=2)
Il. give

(B) (Ques. 19-20 ) Read the passage carefully and answer the guestions given below-

Thirteen year old Meghna was swept away along with her parents and seventy seven
other people. She spent two days floating in the sea, holding on to a wooden door. Eleven
times she saw relief helicopters overhead, but they did not see her. She was brought to the
shore by a wave and was found walking on the seashore in a daze.

Almas Javed was ten years old. She was a student of Carmel Convent in Port Blair where
her father had a petrol pump. Her mother Rahila’s home was in Nancowry Island. The family
had gone there to celebrate Christmas. When the tremors came early in the morning, the
family was sleeping.

Q-19 (a) How many people swept away with Meghna? (2)
Ans:
(b) Why was Meghna not saved by relief helicopters? (1)
Ans:
(c) Read the passage and write plural of the following words: (1+1=2)
I HOM OB BT T avivesnosuasad vy vovs 5 vanaumas o s oo ab oVbaav sh midus duvs i s
. Year
Q-20 (a)Who was Almas Javed and where did she study? (1+1=2)
Ans:
(b) When did the tremors come? (2)
Ans:
4
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(c) Read the passage and write one word for given sentence: (1)

A person's father and mother-
P

(C) (Ques. 21-22 ) Read the passage carefully and answer the questions given below-

One of the greatest mysteries of bird's life is travelling. Every year during autumn
and early winters, birds travel from northern region of Asia, Europe and America to the
southern warmer land. They make the return journey again during spring and early
summer. They are very punctual unless they are delayed by bad weather. They face many
dangers and hardships while travelling long distance. Sometimes sudden storms arise
and drive them far out of course. At night, bright lights attracts and confuse the birds.
They cannot fly at their fastest.

Q-21 (a) What do birds do every year? (2)
Ans:

(b ) What is the greatest mystery of bird’s life? (2)
Ans:

(c) When do the birds make their return journey? (1)
Ans:

Q-22 (a) Why can’t they fly at their fastest at night? (2)
Ans:

5
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(b) What difficulties do the birds face while travelling? (2)
Ans:
(c) Identify and write one word for the given sentence. (1)
l.  Doing something at the right time. (not late)
P sinncisssmavamnin s sy s S R £
1. Very bad weather with a lot of rain, strong winds, etc.
e R R R
Q-23 Rearrange the following sentences in correct seguence - (5x1=5)

(a) Quit India movement started in 1942.

(b) The Constitution of India came into effect in 1950.

(c) Dandi March started on March 12, 1930.

(d) India got independence in 1947.

(e) Jawaharlal Nehru became the first Prime Minister of India

Ans-

(a)

(b)

(c)

(d)

(e)

PART- IV
ESSAY TYPE QUESTION

Q-24 You are Arijeet/Divya studying in Alwar. Write a letter to your mother telling her about

your studies.

(You may use the following clues)
I.  How are your studies going on?
Il.  What are the facilities in school?
Ill.  What are you doing to improve your studies?

22
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Ans-

2025

My

Yours

OR

Imagine you are Abhijit/Pranavi studying in Government Upper Primary School, Jodhpur.
Your father has been transferred to Bikaner. Write an application to your Headmaster
requesting him to issue you a Transfer Certificate.

2025

Subject -

Respected Sir/Madam

Yours
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Q-25 Write a short paragraph on 'Save Trees' (1+8+1=10)
(You may use the following clues)
(best gift of nature, provides, intakes, fruits, wood, reducing pollution, supports
ecosystem, rainfall)

Ans-

OR

Write a story in about 70-80 words with the help of the given outline-

Two friends and a bear ..o BOINE cvvvivinieninne e fOFESE v sres s s e fromise to
help........cccoverene. 5€€ @ bear. One climbs up a tree .................... the other does not know how
to climb....c...cceveeeeeenne lies down on the ground ...........cee........ bear smells him
hsoabesnsnsnssathaiassonnses BAKES MM cciiiiiciiviininiiiinnns €A oo neeicineninnn g 0€S freind comes
down.........ccceeeueueneeee.. asks what did bear say ...........................don’t rely on false friends

reeremenee..TEElS @shamed.

Title -
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TS 99 (1-8)
Objective Type Question (1-8)
W 1 R deel @ foe arew acae -
(a1) 1 (#) 0
(W) -1 ()3

The Additive inverse of a rational number is-
(A) 1 (8) 0
(Q) -1 (D)3

w2 g TiERT B 5 B -

(a1) DA TH (3) 31

(@) F1E & TE (z) St TE A FEA
The solution of the linear equation are-

(A) Only one (B) Many

(C) No solution (D) Can't find

e 3 A # | a9 fieey w3
(=) T amaa o B B (3) Tt T TR T TE B ©
(@) 0 T wHere AW Bl & (%) W uaT |9 ugde B ©

Which of the following option is correct-

(A) All rectangles are square {B] All squares are not parallelogram
(C) All squares are trapezium (D) All kites are rhombus
1
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e 4 e # § P e gof o de 8-

(a1) 1057 (1) 7928
(w) 2453 (%) 1681

Which of the following number is a perfect square number-
(A) 1057 (B) 7928
(C) 2453 (D) 1681

9 5 e # 4 wa B ol v Hen &

U 6

U 8

(a1) 4104 (3) 13832

(W) 1729 () 57 | B TE

Which of the following is the smallest hardy ramanujan number-
(A) 4104 (B) 13832

(C) 1729 (D) None of the above

5 #iex T 10 fHariey § sgum 8-

(31)5 : 10 () 1: 2000

(@) 5 100 (8)1: 2

The ratio of 5 meter to 10 kilometer is-

(A)5 : 10 (B) 1 : 2000
(C)5 : 100 (D)1 : 2
(-4p) ¥R (7p) &1 TorE &

(=) 28p° (3) -28p

(w) -28p” (=) -11p

The product of (-4p)and (7p) is—

(A) 28p° (B) -28p
(C) -28p° (D)-11p
(4)2 =1 AF &

() — 1= @) -5
(@) 16 (8) %

27



The value of (-4)% is—
1 1
(A) — 16 (B) g

() 16 (D) % [ ]

HfreTgRIeT® U (9-12)

Very Short Answer type Question (9-12)

4 3
U+ 9 e X; T HH T DI | 2

Find the value of —% X

~1 | w

gTY / Ans

Ue: 10 9IS 4x+3= 6+ 2x DI B DI 2
Solve the equation 4x+3= 6+ 2x
gTie / Ans

UG 11 AHEl U@ 59 &9 & et ol 5em, 2cm AR 5em | U@ B9
A & foIg U fhas w1 sragaaan g0t | 2

Manvi makes a cuboid whose sides are 5cm, 2cm and 5cm. How many such type of
cuboids are needed to make a cube.
gTY / Ans

U 12 DS 9% 18 U Sfiuadl afafaa o @ 919 2 1239 # @Il 72 | SlgE el
e ¥ Ugel 99 9% B Hed F1d DT — 2
An articles was bought of Rs 1239 including 18% GST. Find the price of an article

3
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before adding GST.
gTY / Ans

RIS T (13-22)
Short Answer type Question (13-22)
Part- A(13-16)
T 13 FEfoiad $oFT 31 teat Bl /A9 § ¥ IugE R (V) dfET ST (4X1=4)

(i) a™ + a" = a™™" (Vg / )
)22 = o (5 / e
(iii) a® = 1 (e / )
(iv) 0.0016 @7 #F® ®Y 1.6x10* & (| / o)

Read the following statements and mark (/) against True/False:-

(i) a4+ pht=gm (True/Flase)
(i) 273= % (True/Flase)
(i) a*=1 (True/Flase)
(iv)  The standard value of 0.0016 is 1.6 x10* (True/Flase)
e 14 e =i o gfd afee— (4X1=4)
Fill in the blanks-
(i) U% S &1 TSI &3%d SHD GAD! & &a%hal & AT S Bam £
CHELWE S
The surface area of a solid is.....ccccecivveeceeeeviecncneeenn 1o the sum of the area of its faces.
(equal/big)
(ii) B BT TSR BB g &1 ((go)’ / e(gam)’)
The surface area of acubeis.....coocovniceee, {(side}g,!ﬁ{side)z}
4
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(iii) TF e XTER BIAT B (1000cm? / 100cm?)

Onelitreis equiblto. oo sunn s ynpss s (1000cm? / 100cm?)
The space occupied by a solid is called.......ccoererererrerernecrcerenee (Area /Volume)
U 16 W™ O &1 W™ 7§ e - (4X1=4)
Match Column ‘A’ with Column ‘B’
A T
Column ‘A’ Column ‘B’

(a) a x (b+c+d) (1) a’bc + ab’c + abc?

(b) (x+y-5)x5xy (2) ab+ac+ad

(c) (4p+1)(0) (3) 5x”y + 5xy’ - 25xy

(d) (a+b+c)(abc) )0

e 16 U i s @1 R ast 4 ) 13 e B el g 2 wiE S B

(4X1=4)
The following graph shows the yearly sales figures for a manufacturing company-

(i) 79 2012 § a1 fpa=n off?
What was the sales in year 20127
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gTY / Ans

(ii) T 2016 ® fAw! fha=ir o7
What was the sales in year 20167.
gux / Ans

(iii) @Y 2012 =1 99 2013 & fAfFAT § fHa=m sy ar?

What was the difference between the sales in 2012 and 20137
gtY / Ans

(iv) Fa9 oS 9= g ad 4 g2°
Which year had the highest sales?
goY / Ans

Part-B

TERTHP T (17—-22)
Short Answer type Question (17-22)

U 17 U URUTNRY e s i, Rrae ve wad e g 12 & —

Find the pythagorean tripet, whose one smallest number is 12.
gt} / Ans

e 18 TS At T 21,000 # TRIST TAT| TS a4 UTENG Sl B Yod W 5 UiAvd el &

T, UH a¥ UvErd E1dl B Jed Sid difery |

A TV was bought of Rs 21,000. After one year the value of the TV was depreciated by
5% (Depreciation means reduction of value due to use and age of the item). Find the

value of the TV after one year.
gtY / Ans
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U 19 TS Bdgl B HB Il 63 a9 # 91 & forg 42 wei=1 91 smgvgsan gl 2|
I § TN 54 3T ¥ gAe % forg faeh weieT @51 smaegsar B0 4
A factory requires 42 machines to produce a given number of articles in 63 days. If the

same number of articles are to be made in 54 days then how many machines are
required.
JuY / Ans

TET: 20 D v x - 3)+2 B WIS DIOG | TAT x= 1D g 77 At ;10 Diferg | 4
Simplify the expression x( x - 3)+2, also find the value at x = 1.
gTY / Ans

U 21 U% Ha9 A 22 SOVTOR @™ B, TS @ o faour 21 9 ok S 6 Wiev 81 38
iy Tfer 9 X A o @ B 79 T AF%d T YT IRM BT 9§
ﬁﬁ-ﬂ?l 4
In a building there are 22 cylindrical pillars. The radius of each pillar is 21cm and height

is em. Find the total cost of painting the curved surface area of all pillars at the rate of
%8 per m*
9Ty / Ans
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e 22 Frer aferat &1 vt o Was s gee | R avt F R TR 3§ geeel
I HET T UPR B 4
Draw a linear graph using the following table. Number of accidents occured in
different years in any city is as follows.

EL
Yait 2013 2014 2015 2016
E. 80 100 150 120
Accidents
gTY / Ans
8
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e e (23—25)
Easy type Question (23-25)

uE: 23 O fgw @ RF e 5@ g # g8 Af axgel & e (Tt ) R & ond

g1 8
e k)
frae ¥e 3200
hedidl 800
GG 1600
IS 1200
1| 400
B 7200
¥ 3PS BT 7P UK A T |
On a sports day, the sales (in Rs) of different item of a particular shop are given below.
Items Sales (in ruppee)
Cricket Bat 3200
Football 800
Valleyball 1600
Ball 1200
Others 400
Total 7200
Draw a pie chart for this data:

&gaY / Ans
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ST
OR

UF 9= N1 U& fod § faamm T 999 39 UK 21

feemt Rikii}
EIES 8 He
ERIGE] 6 ET
Tead 4 ©S
e 4 T
=g 2 He
T St 3T TF U A R |
The time spent by a child during a day is as follows.
Daily Schedule Duration
Sleep 8 hours
School 6 hours
Home work 4 hours
Play 4 hours
Other 2 hours

Draw a pie chart for this data:

&gaY / Ans

35
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9E: 24 e TR Tgdw @ T AW DT B AW WA T | RN qgES D a4 ol
P HIT HIA DAY | 8

Two adjacent angles of a parallelogram have equal measures. Find the measure of
each of the angles of the parallelogram.

arerdr
OR
MR HELP T FHIRR ogde & e OF = 4cm @R HL, PE & 5cm & &) oH
o HY | 8
Figure HELP is a parallelogram in which OE = 4cm and HL is 5¢cm more than PE. Find
OH.
P L
0
H E
gTY / Ans
vt 25 el aieel @ Torars - (4X2=8)

Factorize the following expression.
() x'+7x+12

(i) x"-8x+16
(i) y'-16
(iv) 4x"-8x+4

11
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3ar
OR
frr=faf ol @ TraErs FHifog- (4X2=8)
Factorize the following expressions
(i) g -10g+21
(i) p +6p-16
(iiii)y m* - 81

(iv) am™ + b + b + an”

IR / Ansfi)

(i),

(iii)

(iv)

12
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T 9 (1-8)

Objective Type Question (1-8)

4 ey T Rfeei d 9 W Ree gH-
Choose the correct option from the given option

T¥T:1 JAFARS / IEl ARG Al A F 9ad b

(ar) 1942 # (q) 1946 &
() 1947 ® (3) 1948 %

Colonial/royal Indian navy did mutiny in-

(a) 1942 (b) 1946
(c) 1947 (d) 1948

g3 2 "l veg ¥ Ay 8-

(&) % # BT 9” Wil B (@) a9 H U@ IR WAl S

(@) o= &1 o T & Ty @l Bed () 37 9 31 T8

The word "fallow" means-

(a) Cultivation twice a year (b) Cultivation once a year

(c) Leaving the field uncultivated for sometime (d) None of the above [

¥e: 3 HEl i &1 eRe 8-
(&) o gered (@) g1 * TS
(\) SeEy (&) Sudad
1
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The factor that causes soil formation -
(a)Organic matter (b) Composition of sail
(c)Climate (d) All the above

U 4 U <9 BT A6 RIHE amR w dier & ife-
(1) 91 T g TR SMI wET § (@) 91 & SIET 9 U W 9 ©
M T RFIIATY N WA & (3) FH g Jeg &% &M & $9 ©
The population pyramid of a country is broad at its base because -
(a) Both Birth and death rate are high  (b) Birth rate is high, death rate is low
(c) Birth rate is low, death rate is high (d) Both Birth and death rate are low

U 5 AMEadl FHEE TGl & fog v o

(&) s W @) fFrer =

@) or IR T TE W) (2) Sudad § | BIE A
Tribal community were dependent for livelihood on-
(a)Forest (b)Hunting
(c)Both ‘a" & ‘b’ (d)None of the above

g 6 e A wRa far Tar—
(a1) 1925 (@) 1950
(d) 1986 (g) 2001

The child labour act was passed in-
(a)1925 (b) 1950
(c)1986 (d) 2001

U3 7 HYIST Wi @ Wfed fran—

(1) Frarsi = (@) areiRmE =

(|) ArIERTE | (8) AT BEEE |
The maratha power was organised by?
(a)Shivaji (b) Bajirao
(c) Madhavrao (d) Nana Fadnavis

U¥T: 8 YRR I SuE f5E e § femg € 0

(31) SR (@) SR
() war AR (7) SR
Where is the Ranthambore national park situated?
(aMaipur (b) Jodhpur
(c) Sawai Madhopur (d) Udaipur
2
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RIS 7o

Very Short Answer type Question

U g Bes | ol T veel § ¥ Sfua wee &1 999 W Rea e &6 gfd difee —

( S uiedH, J31, e 17, 6T ) 4):%:2
(@) 92 F UB W TFER TN B AT B GA T HEal 2|
(&) wfer 1000 efdeal o= AT T @ TR HEAT £ |
(@) dfem=T & % FHR BTG &1 I a1 o g1 £ |
(@) Ff¥=a orafd # SFTeve # oMY qETd B HEd €|

Fill in the blank by choosing correct words from the given bracket-
[ Population change, soil, article 17, birth rate ]
1- The thin layer of grany substance covering the surface of the earth is

callediessnmannassns
2- The number of live births per 1000 thousand persons is called........cccceeeveneeeee.
3- According to article .....ccccceeeeireenereeneenenn.... Untouchability has been abolished.

4- The change in population over a specific period of time iscalled .......ooeveeeveeireeennnnen .

UE 10 T W BT W T W e B 4x3=2
A St B
(1) g & TEY g% GaRH (A) o1&
(2) o9 AferPR ATTar (B) AMFg HEEE (@)
(3) wEcagel FdERY SaRE (C) 2006
(4) SrTanfaY (D&
Match Column ‘A" with Column ‘B’
Column ‘A Column ‘B’
(1)The greatest resources of nation (A) Water
(2)Recognition of forest rights (B) Human Resources [people]
(3)Major renewable resources (C) 2006
(4)Tribe (D) Bhil
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we: 11 fyafoRe st &1 woer w1/ 3wd 3 9 Sudad (V) A4xz=2
1 REs sifsa #ife
(1) 9RARE GfEE ® ITE 21 3 IGER U B ABR Bl GEd B ARBR BT
o = T B [¥3 / 3]
(2) TSR W SR TS 2017 H WRH @Y TS | [ / 3]

(3) 321 F=Rl ¥ yeRil IS F S5 I fAarE & AHAT B (W / 3]
(4) vl W 6—14 A9 B AY F W I B ET F ARBR B TR F@l
2 [ / 3re)
Check the following statements and tick (V) against True/False: —
1. According to article 21 of Indian constitution the right to water is considered to be a
part of right to life. [True/False]
2. Rajasthan Jan adhaar scheme was started in 2017. [True/False]
The aim of Beti bachao-beti padhao scheme was to stop child marriage. [True/False]
4. The Indian constitution gurantees the Right to Education for all children between the
age of 6-14 years [True/False]

U9 12 HEAT F AYHl AT 98 & fo = Sy vy ? 2

What did the company do to increase its revenue?
g/ Ans

oTEaRIH® U

Short Answer type Question

U 13 Wl & gg W feuell forfan— 4
Write a short note on the battle of Plassey.
gtY / Ans
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TS 14 (%) TGN R BT YRATNG ST | 242=4
Define the term 'Vernacular'
gu% / Ans

(@) TRa & g IR T QRS » 7 ey e afteet @ fufy § gur
& ya -
Name the famous social reformers of India who tried to improve the
condition of women. (any four)
gt/ Ans

WE: 15 JaT ISR A A9 1 GASAG 87 Ja GV & oIy a9 1 Sur w7 (4)
What do you understand by soil degradation? What measures will you take for soil
conservation?

gtY / Ans
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TS 16 TSN FHEA § AT I GHSW 27 FEENY Aied FHIET (4)

What do you understand by renewable resources? Explain with examples.
94+ ,/ Ans

YT 17 IR & "EEE § A § 9 SE 9R wEl 3 g9igy—
([@@TR, SFEePR, $IeT, Jraare], TI9HTE) (4x1=4)
Mark any four places from the following on the map of Rajasthan.
(Bikaner, Jaisalmer, Kota, Banswara, Hanumangarh)
g%/ Ans

2 ' b3
R ST
B} S
£
6
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yee: 18 @ &1 af ST gU R @ wEem (4)

Explain manufacturing by giving the meaning of Industry.
STI% / Ans

TE: 19 SN W1 F w9 H {6 S A1 82 T 5H Gh DI S Bl AAS HGH
uRRReferdl &1 wHsEy— (4)
Which crop is known as golden fibre? Explain the necessary climatic conditions required
for its growth?

gdav / Ans

Y 20 AT & MR & ARG BIFY | (4)
Describe the right to equality.
gtY ,/ Ans
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guY/ Ans

guY / Ans

U9 21 ARG Wi # o FRusr o7 59 YR 9HsTE T 87 (4)
How is secularism explained in Indian constitution?
ge: 22 (i) VORI B EYHRE JurT W fewel faray— ()
Write a short note on the handloom industry of Rajasthan.
(ii) fpfnT & amy =T wHeE € ? ()

What do you understand by 'Phishing'?
gdY / Ans
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e T
Essay type Question
ge: 23 (i)FTe e | ARG IS ArEEd B T $9 U §8? (4)
How did the partition of Bengal give momentum to the Indian National movement?

(i) 1857 @ i & T ARG WTET YOTell H FU—adl 9599 [FT Mg (4)

What changes were made in the Indian administration system after the revolt of 1857?

AT
OR
(i)3fere wamE w el fafay | (4)
Write a short note on Rowlatt Satyagrah.
(ii) oreT & I —wafBEl | |HU SaH B fog AU F an fBar? (4)

What did the British do to force the rebellious landowners of Awadh to surrender?
g<Iv / Ans
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ge: 24 (i)RT # ISTedl @1 GREET B GHEST |
Explain the structure of courts in India.
(ii) EE H B 991 B GBI B FHSEY |
Explain the process of law making in parliament.
Agqr

OR

(i)5s wrduferer ®1 fra gor FufEm w82 9asmsy|
Explain how does parliament control the executive.
(ii) W= ~aruTeeT @ fA¥Nay THsEy |

Explain the characteristics of independent judiciary.

31uY / Ans

10
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g% 25 (i) IR H 1857 @I Hif B SWHAA B W@ BRI BT qUHE BT | (4)

Explain the main reasons for the failure of revolt of 1857 in Rajasthan.

(ii) Fewoft feorRay 2+2=4
Write short note-
(1) vrorer fa e Yol (@) TR geTEE
(a) Rajasthani painting style (b) Urban administration
aqeqy
OR
(i) 1857 @ wifa & o™ H YR B IS | (a)

Explain the spread of revolution of 1857 in Rajasthan.

(ii) fermoft forfay | 2+2=4
Write short note -
(1) T YT (@) IoTRIE ¥ s
(a) Gram panchayat (b) Sculpture in Rajasthan
9<%/ Ans
11
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TS 3 (1-8)

Objective Type Question (1-8)

ve e | 9§ R @1 e fafl 8- (1)

(&) Sapeit (8) <Ee

() fxa o= () foreft (TR yoedr ) ()
The modern method of irrigation is-

(a)Dhekli (b) Rahat

(c)Drip system (d) Moat(pulley-system) []
ye2 e &5 § o W arel dg-die bEed & (1)

(a1) wofraTa (@) aTwfaar

SRERER E (c) Wer= g ()
The plants found in a particular area are termed as-

(a) Fauna (b) Flora

(c) Endemic species (d) Endangered animals []
U3 AT DI AUSRY HYd WD DIl I Gem & o o A 9 fasr sugm

far s 22 (1)

() A 1 g ot (@) e

(|) ‘ar AR TeH (8) SWRE § ¥ DI TE ()

1
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Which of the following is used for protection from insects during the storage of food grains?

(a) Dried neem leaves (b) Silos
(c) Both 'a’ and 'b’ (d) None of the above [1]
YIT4 BRI § B M e Haits S Svft @ See B9 ar 87 (1)
(o) T (3) praaT
(\) B (3) Tt NS
Which is the high-category fuel mostly used for homes?
(a) Wood (b) Coal
(c) Kerosene (d) LPG []
Y5 IO H Uahl Hedhl 3 FHE § Prear & WA W 5a Ugiferam Iwre &1 wam
foan Wi 27 (1)
() g () Tty =
(@) Sror@ () ¥es da ()
Which petroleum product is used these days for surfacing of roads, instead of coal-tar?
(a) Bitumen (b) Paraffin wax
(c) Diesel (d) Lubricating Oil [ ]
vee fFdl Y@u @1 wits & aRaw & 319 9 T w® o fear s 87 (1)
(a1) @™ ot (@) Raex tmmT
() TESR () argaTeET ()
On which scale is the power of an earthquake expressed in terms of magnitude?
(a) Seismograph (b) Richter Scale
(c) Water heater (d) Barometer []
Ue7 9Had <UU gRT 99 fH awg @1 ufifar @ fawE gar 27 (1)
(1) Seer (@) e
(6) o%g & BleT () a%g & w=1 (
2
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How does an image look formed by a plane mirror ?

(a) Upside down (b) Erect

(c) Smaller than the object (d) Bigger than the object [ 1]
Y8 9 BT I8 DGl 90T &, 91 97 9 fAre 37 uee o €7 (1)

(37) geved! (3) aRaTR®T

(®) =i (=) X (J")

Which part of the eye gives it a distinctive colour?

(a) Pupil (b) Iris

(c) Cornea (d) Retina [ 1]

JfeTeRITS U (9-12)

Very Short Answer type Question (9-12)

ye: 9 fammy, gereial 9 f5a yor =1 81 € 7 99Emse | @)
How are viruses different from microorganisms? Explain.

gtY / Ans

Ye: 10 389 & 9gd SUANT | YAERY R ] SMORE JIE gSal &7 (2)

What harmful effects are caused on environment while increasing the fuel consumption?
gty / Ans
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Ue: 11 WEHe g & 9 & ford f6w aaiie &1 wanT fear e 27 (2)
Which technique is used for the birth of test-tube baby ?
gTY / Ans

g% 12 RIfeed & &3 3§ oFe 9aRll @ J9F 4 MM & oY Y yaR &1 @i &
SUH HT FAT fHar o 87 (2)

Which type of sound equipment is used for investigating and tracking medical

problems ?
gTY / Ans
YIRS 99T (13—22)
Short Answer type Question (13-22)

U 13 W A F W T 9 fHem i ax1 =4

WY w T

(a7) & 1 IR

(@) gferifds 2 T

(%) I 3 WEEAERE

(=) wfery 47 @ we

5 fqudl @1 da
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Match Column 1 with Column 2

Column 1 Column 2
(a) Cholera (1) Virus
(b) Antibiotics (2) Bacteria
(c) Fungi (3) Streptomycin
(d) Polio (4) Rust of wheat

(5)Yellow vein mosaic of lady finger (Okra)

U 14 O1F 84 9 W 84 H 3w foad | (4)
Differentiate between rapid combustion and spontaneous combustion.
goY / Ans

Ue: 15 BIed H @4 T4 vl § ¥ Sfua e &1 ¥u I Nad Wil 1 gfd $iog—ax1 =4
( SIf¥7T, TRUGEAR, ¥, BEd, qTS )

(o1) FrEl 1 SeeT EE U ISl FRA B WFAT o FEr & |

(8) araifea va fmr Smg 9 BT gerar W 8, R HEd B
(W) &l a1 ST B HAT T o |

(@) ST BT HH F AT BT oo FHEA € |

Fill in the blank by choosing correct words from the given bracket-
[ Threshing, weeds, float, crop, ploughing ]

1- The process of loosening and turning of the soil is called .......coovvvivevceiiiieieeeeeeees
2
3- Damagedseedswould .........cccccecieee e, ON the top of water

4- Separation of the grains from the chaffiscalled ...l

Unwanted and uncultivated plants are removed,which arecalled ..o

54



w¥: 16 FfeRad weAl & STR TS e | SIoig—

Give the answers of the following questions in one word-

(@) digare & IRe aRads feas gmr Frafa en &2

4x1=4

(a) By whom are the physical changes in the body controlled at the onset of puberty?

(@) T Ao B B few W @ W1 fhar orar 82
(b) Which hormone helps the body to adjust to stress?

(M) TS9 & WTHERS aAERE H R AW fafEy |

(c) Write the full name of the virus that causes AIDS .

(&) Titex 307 fa Ofy § wafd 82
(d) Goitre disease is related to which gland?
e 17 F=fafed su=l & 99+ 99 [T) /eme [F) fafae —

Mark true (T) or false(F) for the following statements.

(®) s =1 1 oA B QAR WY qE T S § |

(a) Liguids and gases do not exert pressure on the sides of the container.

(@) sa &1 g g fRem g B 2

(b) Force has both magnitude and direction.

() T AT qG IFTIRIT IR BT AHT BT ¥ |
(c) One charged object attracts an uncharged object.

(@) s &5l avg @1 RAem smEwen & 7fy § 78 @ waar 2

(d) Force can not make an object move from rest.

YE: 18 TAE ¥ F1 a9l 87 39@ &1 BRI forray |

What do you mean by deforestation? Mention its two causes.
gty / Ans

4x1=4

Py e f— — — f— f— —
[ W S Ty TR R S S -

2+2=4
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(ii)

US: 19 HYY SART B @ g SF1 87 SH SYUF $I IaERY NI [T S| 2+2=4
Friction is both a friend and a foe. Analyse the statement with example.
gTY / Ans

UE: 20. U QIeAd 5 UPHUS H 50 IR I HaT & | SHD! ATGRT =1 AMacidblel §a i |
242 =4

A pendulum oscillates 50 times in 5 seconds. Find its frequency and time period.
gTY / Ans

TS 21 ¥ A & FA—FT1 BRI 22 YHH H WY P 9919 D (Y AY FT BR G 87
2+2=4
What are the causes of an earthquake? What precautions would you take to protect
yourself from the earthquake?
guxY / Ans
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WY 22 A BIVT Li 9T WA DI Lr 31 22 w3 fim & guizd | AT Li=40° 81 O WaoH
@ FIOHER Lr &1 919 @41 801 ? 2+2 =4

- L e

Show angle of incidence Li and angle of reflection Lr in the given diagram .If Li=40°, then what
will be the value of Lr according to the law of reflection?

g7 / Ans(a)
fFeureTe ue (23—25)
Essay type Question (23-25)
ue: 23(31/a) Ugifera® @ wigfas 1 3 ISR &1 AMifed = §91su | 4+2+2 =8

Draw a labelled diagram of Petroleurm amd Natural Gas deposits.
(@/b)(i) e & 9M X &l I FeE gedl oG @ 217 B @ g B |

"Cutting of trees in the name development is increasing”.Justify the statement.

(i) ve=a UOe (GoAnaar 87 A9 YRR ¥ el R g9 arer amited ==

ER IR
What is Adam's apple? Draw a labelled diagram showing its position in the
human body.
aerar / OR
(31/a)TTTE! FET R Ugid 3R Suid 999 & IR 9u™ faRay | 44242 =8

Write any four ways to save petrol and diesel while driving.

(@/b) (i) T=a <9 amaral # AR B B A Tafaftal @ HRY g9 S dR—R @9
BT O ¥ B | 38 ORI dee & fofg o9 ar gena 37
Wild animals have been reducing gradually due to continous human activities in
their natural habitats. What suggestions will you give to conserve them?
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(ii) wa R 4 vfgaa o & Rafa &1 goi= aen s mifeda = a9y
Draw a labelled diagram showing position of Adrenal gland in human body.
Ans. (31/a) .. -

(a/b)(ii)
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U 24 (3fa) YOI FT TARME A A9V HI AHIGT B B FERET § TR | 4+42+2 =8
Explain with the help of a labelled diagram of embedding of embryo in the uterus.
(@/b) (i) =¥ ®T FH B & &l FarEwvl fafay |
Write two example of reducing friction.
(i) faw g form # &7 gdvr ReR Ea @ & | amafad fawor guor (A) W 45°
BT W yafag Sl 2 <90 B 9 wrafda &9 arell wakda fawor @
ORI HIT §15Y |
Two mirrors are kept at right angles . A ray of light is incident on mirror A at
an angle of 45°. as shown in diagram .Draw the reflected ray and angle of
reflection from the mirror 'B'

312191 / OR

(31/a) He® & SiIGT TF B AHIGT & ERT THST | 4+2+2 =8
Explain the life cycle of a frog with the help of a labelled diagram.
&/b) (i) 7= B @IS fFH YFR H TEhd &7 AHSISY
How can we take care of our eyes ?Explain
(ii) =T fFe YR gART A= 87 SETERY gR1 eS|
Explain with example how friction is our friend.

Y ) — E - - - - eveeremmassssaseseesas

10
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@)(ii) .

Ue: 25 (31/a) fagd <= fafr &1 wfm aoi= S 6+2 =8

Explain the process of electroplating with the help of a diagram.

(@/b) T = T Xewrerererrerenns Y B X DIIY U9 g & A3 oIy |
Complete the formula and write the unit of Force
Force = Pressuré X ...ccccccoceueeeen

14T/ OR

(a1/a) ol B AEHAT T TN BT AF FRT TASMET | 6+2 =8
Describe the potato conductivity test with the help of a labelled diagram.

(8/b) s @G DI T B R H GRETT HR FHAT & | HUT Bl IAERV ERI

HHATSY |
"A force can change the state of motion."Explain with the help of an example.

Ans(31/a) .. : : - . ; s s

11
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(3/b)
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ye—3 ‘e {6 YAy Y@ifed ue wga Ul sif— 1

(&1) ey

(8) v

(|) =9

@) =1 ()
U¥—4 ‘™ e Oifee: afEeme: | o O erengus afa— 1

(an) fe: @«

() faga (=) apmas -
5 TG T TF oo | Rad w=H ®ya— 1

() fawgeaT (a) TFeTgeT
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Ue—14 #IGNTT: fhemue R Reqwera waq 2
(T, ST, Sederd, Aiysaf)

R

UTH—15 FSUETE: I ge1 R Rewremrn grad 4x1=4
(UTE, TSR, TSI, FHH)

2! TATRATET SRR 3 i s e s

o b

YeT—16 ATTARGaTl YA STV quiarad fead— 4x1=4
1. HIGENT gEIvIT SUANE & =l e
2. FAHHNT T[T ST HaT WA HRifcle
3. mmﬁsﬁ ST tl?l’mw @RIl | u—ci’mﬁ ?HT-’
4. |Y AT Wﬁﬂ Gl tnﬁu%r?

WIF—17 SENfRaar Fe==M SoxIfr vHued feraa— 4x1=4
1. AFETETENeRd B FEwie
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U¥I—18 WEIAIAIRE Ueggwian &l Teld! forad 2+2=4

e e e e

Y19 & W ST TAIBINE W WEA HE gHoH dea— 4x1=4

® q
(@) aemfig add @ o
(m) Rt gor RO
(=) Byt <o T HaRe

wea—20 faanfor gear ( #eom) wgﬂﬂﬂa’rﬁqﬁﬂmtgﬁ-’rm— 4x1=4
(ereaToTm, Wafd, e, HeET, WArT, SYUE)

HALdT

Ao fARaai Tl WerEE Pl qrada— 8xz=4
(g2, AmTaaM, Uigd, o, B1%;, RarEvewE, 19, Jw)

L 1) NN | <[+ < S 1= (o1 | 2 S B
3 S 1o (1) OO 2.7 (s i o S B Bl o |

gHUH FHaar & o T gear |
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T |
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1 e Teaf g s 8=
TEHI FeRE O |
femhe =a: [y |
IR GHCEEGR RIS | |

(- TS T+ ) B R - S E N I
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FoRT 9y G9R, Y=l ARaoHarseq ||
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